Multiplication

Stmteg'w,s: Cuidance:
Year 1/2 Children should represent multiplication as repeated
Solve |-step addition in many different ways.
DDA OO

problems using

multiplication
i oY oY Focus on use of concrete and pictorial representations
TrrrrrerrEREERE u: e to solve problems. There is no expectation to record
One bag holds 5 apples. Jcor'ma.uy.
| How many apples do 4 bags hold
o &° © o o NG o In Year 2, children are introduced to the
c- O Q O o) o O multiplication symbol.
::::: 5+454+5+5=20
0000 @® 4X5=20
0000 @® 5x4=20
Year 3/l - — Wlv o In year 3, teachers should begin with the expanded
! E-q 3 method shown opposite. This will support children to
Multiply 2- e understand the idea of partitioning into 10s and Is.
digit ,,,,4,,,,,,",',',,7 0 (x4
numbers by i | euee 15| 0 (5x30
digit L-- i 7|0 PV counters should be used to support understanding
numbers 5 ’ of the method rather than the multiplication as
‘ 34 xX5=170 | they should use times table knowledge.
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Hir)e 0000000
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Year 3/4

When moving to this stage, children should be using

| e the short, formal method. Concrete and pictorial
yl{iftplg 3- 2|*%| 8 representations can still support understanding of the
e x 4 method.
numbers by
|-digit 21 8]0
numbers VA K _ 12 Limit the number of exchanges needed and move
= { 245 X 4 = 980} children away from resources when multiplying
larger numbers.

Hundreds Tens
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Year 5 Use place value counters to support understanding of the

SN method at this sta.
wo [ we ] we [ we 98'

Mltgly - © °0 388
digit S 5O OO0 I children are struggling with their times tables, encourage
numbers by use o multiplication grids so they can focus on the written
|-digit © _ Q0O method.
number-s . =

| 1,826 x 3 =5,478
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Year 5

0 2 00 00 Use the area model to help children understand the
oltiols 2 Ir T e e | 000 OO0 size of the numbers they are using.
P | 000 00
ifyibm by E . E E 000 OO T.h'Ls.anks to finding the area of a rectangle by
2-digit ) 000 oo Finding the base covered by the base 0.
numbers
Wl tlo The grid method can be used as an initial written
E i E E x| 20| 2 3 | 2 method before moving on to the formal written
lu .. 30 | e00| 60 % 3 | 1 method .
1120 2 1
6|6 0
| 22 x31=682 682
Year 5 Continue to use the area model to support
understanding. PV counters and be used but base 10
Mut'tt!otgmg e e O O O oooo mnrie can be used tg highlight the size of the numbers.
3dt%“f b OO0 000 OO0 2|54
;u;;g;rs J O @ @ e e e OOOO . i Use o grid method can support with initial
numbers O @ @ @ @ @ OOOO 4188 understanding before moving to formal method.
o|2]o0
00 0 (0000000 = °
000 000000
* 200 30 4
30 6,000 900 120
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Year 5/6

Multiplying
l-digit by
2-digit

numbers

TTh | Th
2
*
2 1
2 5 3
5 4
1 1
7 6

12,739 x 28 = 76,692

Children at this stage should be confident in the
written method.

Children still struggling with times tables should use
multLp[LcatLon 9rLds and focus on the method.

Consider where exchanged digits are placed and
make sure this is consistent.




Division

Stmteg'w,s :

Guidance:

Vear 1/2 P - 20 Children solve problems by sharing amounts into
™, / ' X
Solve |-step %..\ /{. I %.}fllr“} %.. ' . eq.u’a’l' groups.
problems using SN _,/ \\ y \./ / ? ? ? ? ?
i
(sﬁjﬁg) In Year |, children use concrete and pictorial
- representations. They are not expected to record
There are 20 apples altogether.
They are shared equally between 5 bags. JC Orma'uy'
How many apples are in each bag?
OI010) . O In Year 2, children are introduced to the division
* @ * @ * @ * @ [ 3N )
. . . . . 20+-5=4
Year 1/2 Children solve by grouping and counting the number
ot groups.
Solve |-step j: 9 P
problems using
division This links with repeated subtraction on a number
(grouping)

There are 20 apples altogether.
They are put in bags of 5.
9 How many bags are there?
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line and encourage children to count in mu.[tLp[es.




Year 1/2 With larger numbers, children should use
manipulatives to allow them to partition into tens
Divide 2- d
and ones.
digit by I-
digit
(sharing Straws, base 10 and counters can be used to share
with no numbers into equal groups.
exchange)
Part whole models can provide children with a dear
written method that matches the concrete
representatton
Year 3/4 T e When representing an exchange, children should use base
el 10 and PV counters to exchange one ten for ten ones.
- Tos T o 52
Divide 2- e ses |
digit by |- - Use equipment initially outside the place value grid before
digit Fo I B s sharing the tens and ones equally into rows.
(sharing nt
with an S mew Flexible partitioning in a part whole model supports this
exchange) method .
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|
O . 000
© . 000
10 3 (] 000
MW+3=13 @ 000




Year 3/l cen When dividing with. remainders, children can use
s - aaane base 10 and place value counters to exchange one ten
wi Ca—
Divide 2 53 For ten ones.
digit by | T sae )
digit e 1313 |13 |13 |1 ing wi | | |
(sharing - Starting with equipment outside the place value grid
with will highlight remainders, as they will be left outside
remainders) = - the grid once the equal groups have been made
Flexible partitioning in a part whole model supports
this method.
Year L/5 The short division method should be introduced in
Year 4. When using this method, children use
Divide 2 .
- grouping.
digits by |
d.'Lg'Lts o '
(grouping) Language is important here. They should consider

:

QI:

[0

“how many groups of l+ tens can we make?” and
"How many groups of L+ ones ca we make?”

Remainders can also be seen as they are left
ungrouped.




Year L ( ) Consider guidance above.
844 + 4 = 211 J
g:;fi:l 844 @H@ Clihth.iren. c:on‘t'mu.el to use place value counters to
digt ] o0 sharing into equal groups.
(sharmg) 2l 2| 2|2 o0
1scJac]
844+ 4 =21 |
© _ _
0 © 0000
0 O 0000
Q0 © 0000
Year 5 — 00 | Children can continue to use grouping to support
Suide 3. @g*oooo m} their understanding of short division..
jtgis by |- @\ 2 14 Place value counters on a grld can help to support
(9?“0upmg) o B understandmg. Children can also draw their own

856+ 4=214

000000000000
o000

counters and group them in a more p'LctorLaL
method..




Year 5 Build on guidance above.
- [« ] - I
SLYEEdebLF | (@0) (® ) (O O) [o oj Children should be encouraged to move away from
d:g:ts J (0 @) [@ [1e0) O_' concrete and pictorial when dividing numbers with
©0—(C0)|@ 5) a2 s s multiple exchanges
©C0 @0 DR
©0 00
QO
1 8532+2=4266
Year © Pictorial and concrete methods are less effective at

Divide multi
digits by 2
digits (short

division)

) o | 4 | 8 | 9
7335+15=489 | O
15 30 45 60 75 a0 106 | 120 | 135 | 150

this stage so written method should be used as it is
the most accurate.

Children can write out mu.lt'tp[es to support their
calculations with larger remainders.

Rounding the quotient can be appropriate at this

stage .




Year 6

Divide multi
digits by 2
digits (long

division)

2 x1=12 This method, should also be used to support
Iiﬂ 1@ 12x2=24 u.nderstandmg.
12 x4 =48 +
~ (31810 12 % 5 =60 432 +12 =36 _ . _ .
712 g 12X6=72 - J Children can write out mu.ltLpLes to support their
b 4
- 12 x7=84 ,
702 12 %62 06 calculations.
0 12 x 7 =108
12 %10 =120
O/ 4 5 9
1% 15=15
15| 7 1% 5§ -
§ 6 00 o (o 2%19=30
| 7335~ 15 = 489 IEIEIER e
J _ 12 0 0 (xap 4%15=60
T3 2 5%15=75
- 13 5| xg 10%x15=150
[#]
2lal. 1912 B When a remainder is left at the end of a
1152 7|2 2515 =120 calculation, children can leave it as a remainder or
. \ -z 00 Ix15=45 convert it to a fraction. This depends on context.
372 +-15=24nr12 1 4%15=60
b ’ 5%15=75
- 6 0
10 % 15 = 150
12

2 4 2

5
11537 2
- |50 0
72

37215 =247




